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Maths SA-1 Time: 1.30 hrs
SECTION—-A 5x1=5

1. IftanA = %, then the value of sec A is

cosec (58°+ 8) — sec (32°- 8)
tan 45°+tan(45°+ 6) — cot(45°— 0)

tan? 60° —sin? 30"
3. Thevalue of —— T
tan4 45 + cos< 30

is

2. The value of the expression

4. Giventhattana =3 andtanf = %, then the value of (a + ) is

5sinf — 3cos6

5. Giventhat 3cotf = 4, then (—
5sin6 + 3cosé@

)is equal to

SECTION—-B 5x2=10

In APQR, right angled at Q, PQ = 4cm and RQ = 3 cm. find the values of sin P, sin R, sec P & sec R.
Find the value of x: v/3 sin x = cos x.

o

6.
7.
cos 80
8. Prove that: ——
sin10
1+cosA 1
9. - =
sinZ A 1-cosA

+ cos59°cosec 31" =2

10. If sinf = iz' find all the other trigonometric ratios of angle 9.

SECTION—-C 5x3=15

3—4sin?A _ 3—tan?4
4c0s2A—-3  1-3tan?4’
12. In an acute angled triangle ABC, if tan (A+B—C)=1and sec (B + C - A) = 2, find the value of A,

11. If secA = %, verify that

BandC
cos58° sin 22° cos 38°cosec 52°
13. Evalute: —— + = = 5 5 S 5 5
sin 32 Ccos 68 tan 18 tan35 tan 60 tan72 tan55
sin 6 sin 6
14. Prove that:—————=2+ ———
cot@ + cosec 6 cotf — cosec 6

15. If sec 8 + tan 8 = p, obtain the values of sec 8, tan 8and sin 6 in terms of p.

SECTION-D 5x4=20

20 1 —sin® +cos @ 3
16. If tan@ = =, show that ——— ==
21 1+ sin 6 +cos 6 7
1 1 1 1
17. Prove that: ——83¥ — — —

(cosec x + cotx) sinx ~ sinx (cosec x — cotx)

m? -1
nz-1"

18. If tan A = n tan B and sin A = m sinB, prove that cos? A =

tan 6 cotf

19. + =1+ secBcoses @ =1+ tanb + cotf.
1-—cot@ 1-tan@

(14 cotA+tanA)(sinA — cos A)
' sec2A — cosec? A

20 = sin? Acos? A

THILLAI NAGAR, ANNA NAGAR 72000 - 30307 ALL THE BEST



